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< £/ pip ¥3= Matplotlib:
< pip3 install -U matplotlib

o MRLEANLN, AIZIHER apt B3
< sudo apt install python3-matplotlib
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import matplotlib

import matplotlib.pyplot as plt
import numpy as np 200

Nivan [\

About as simple as it gets, folks

t = np.arange(0.0, 2.0, 0.01) | / \ / \
s =1+ np.sin(2 * np.pi * t) e

voltage (mV)
[}
o
o

fig, ax = plt.subplots()

ax.plot(t, s) :;: \ / \ /

ax.set(xlabel="time (s)', ylabel="voltage (mV)', 0.25 \A 4/ \- /
title="About as simple as it gets, folks') 0.00
ax.grid()

0.00 0.25 0.50 0.75 1.00 1.25 1.50 1.75 2.00
time (s)

fig.savefig("test.png")
plt.show()
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import numpy as np
import matplotlib.pyplot as plt
import matplotlib.cbook as chook

# Load a numpy record array from yahoo csv data with fields date, open, close,
# volume, adj_close from the mpl-data/example directory. The record array
# stores the date as an np.datetime64 with a day unit ('D') in the date column.

with chook.get sample data('goog.npz') as datafile:
price_data = np.load(datafile)['price_data'].view(np.recarray)
price_data = price_data[-250:] # get the most recent 250 trading days

deltal = np.diff(price_data.adj_close) / price_data.adj_close[:-1]

# Marker size 1in units of points”2
volume = (15 * price_data.volume[:-2] / price_data.volume[0])**2
close = 0.003 * price_data.close[:-2] / 0.003 * price_data.open[:-2]
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fig, ax = plt.subplots()
ax.scatter(deltal[:-1], deltal[l:], c=close, s=volume, alpha=0.5)

Volume and percent change

ax.set_xlabel(r'S\Delta_iS', fontsize=15)
ax.set_ylabel(r'$\Delta {i+1}$', fontsize=15) Bezg ®
ax.set_title('Volume and percent change') 015 -
0.10
ax.grid(True) .
fig.tight_layout() 45 0.05{ @ :
0.00 ‘
0.0 ‘
plt.show() o0 @ - o
@) O
@)
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import matplotlib.pyplot as plt

# Pie chart, where the slices will be ordered and plotted counter-clockwise:
labels = 'Frogs', 'Hogs', 'Dogs', 'Logs'

sizes = [15, 30, 45, 10]

explode = (0, 0.1, 0, 0) # only "explode" the 2nd slice (i.e. 'Hogs')

figl, axl = plt.subplots()
axl.pie(sizes, explode=explode, labels=labels, autopct='%1.1f%%",
shadow=True, startangle=90)
axl.axis('equal') # Equal aspect ratio ensures that pie is drawn as a circle.

plt.show()
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import numpy as np

import matplotlib.pyplot as plt
from matplotlib.ticker import MaxNLocator
from collections import namedtuple

n_groups = 5

means_men = (20, 35, 30, 35, 27)
std_men = (2, 3, 4, 1, 2)

means_women = (25, 32, 34, 20, 25)
std_women = (3, 5, 2, 3, 3)

fig, ax = plt.subplots()

index = np.arange(n_groups)
bar_width = 0.35

opacity = 0.4

error_config = {'ecolor': '0.3"}
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https://matplotlib.org/api/ticker_api.html
https://matplotlib.org/api/_as_gen/matplotlib.pyplot.subplots.html
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rectsl = ax.bar(index, means_men, bar_width,
alpha=opacity, color="b",
yerr=std_men, error_kw=error_config,
label="Men")

rects2 = ax.bar(index + bar_width, means_women, bar_width,
- . — S b d d
alpha=opacity, color="r", . cores by group and gender
yerr=std_women, error_kw=error_config,
label="Women")

[ Men
I Women

ax.set_xlabel('Group")
ax.set_ylabel('Scores")

ax.set_title('Scores by group and gender') §2°‘
ax.set_xticks(index + bar_width / 2) -
ax.set_xticklabels(('A"', 'B', 'C', 'D', 'E"))

ax.legend() a

fig.tight_layout()
plt.show()
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import matplotlib
import numpy as np
import matplotlib.pyplot as plt

np.random.seed(19680801)

# example data

mu = 100 # mean of distribution

sigma = 15 # standard deviation of distribution
X = mu + sigma * np.random.randn(437)

num_bins = 50

fig, ax = plt.subplots()

# the histogram of the data
n, bins, patches = ax.hist(x, num_bins, density=1)

S25eP0: Matplotlib #IERT{L


https://docs.scipy.org/doc/numpy/reference/generated/numpy.random.seed.html
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# add a 'best fit' line
y = ((1 / (np.sqrt(2 * np.pi) * sigma)) *

np.exp(-0.5 * (1 / sigma * (bins - mu))**2))
ax.plot(bins, y, '--")
ax.set_xlabel('Smarts")
ax.set_ylabel('Probability density")
ax.set_title(r'Histogram of IQ: $\mu=100$, S$\sigma=15%" )

# Tweak spacing to prevent clipping of ylabel
fig.tight_layout()
plt.show()

Probability density

Histogram of IQ: u =100, 0 =15
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import matplotlib.pyplot as plt
import numpy as np

np.random.seed(19680801)
data = np.random.randn(2, 100)

fig, axs = plt.subplots(2, 2, figsize=(5, 5))
axs[0, 0].hist(data[0])

axs[1l, 0].scatter(data[0], data[l])

axs[0, 1].plot(data[0], data[1])

axs[1l, 1].hist2d(data[0], data[1])

plt.show()
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All Images News Videos Maps More Settings Tools

About 5,810,000 results (0.46 seconds)

Minesweeper

GAMES & TOYS

—
— |'
PACMAN™ 1350 BANDA! NAMCO o

PAC-MAN Spin a dreidel Earth Day quiz Fun facts

Feedback
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import numpy as np 20
import matplotlib.pyplot as plt

151

fig = plt.figure() |
ax = fig.add_subplot(111l, xlim=(-1, 2), ylim=(-1, 2))

polygon = plt.Polygon([[0, 0], [1, O], [1, 1], [0, 1], [0, 0]])
ax.add_patch(polygon) ool

0.5

# Function to be called when mouse is clicked
def On_C-l.'i Ck(event) . ~1.05 05 0.0 05 10 15 2.0
if polygon.contains_point((event.x, event.y)):
polygon.set_facecolor(np.random.random(3))
fig.canvas.draw()

# Connect the click function to the button press event
fig.canvas.mpl_connect('button_press_event', on_click)
plt.show()
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% https://unicorn.org.cn/valency/src/minesweeper-0.5.7.pn

TODO: Project Current File Scope Based
Found 1 TODO item in 1 file
-
o

TODO: if square is already clicked and correct mines are marked, clear surrounding squares

(1

b

6: TODO | Terminal PY Python Console
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